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New Problem 4.    In this drawing, the horizontal (red) line is the slice X × {b} and the 

vertical (blue) line is the slice {a} × Y.  Observe that the intersections of these lines with 

the box  A × B  are just the corresponding slices in the latter. 
 

 

 
 

 

Figure 1 
  



 

New Problem 6(d).    The intervals U1, U2, U3 and the intersection of all the Un are 

depicted below.  Note that every Un contains the next open set in the sequence and the 

intersection is the half open interval  (0,1].   

 

 

 


